
 

Názvosloví 
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3-methylpentanol

but-3-en-1-al

2-brombutan-1,4-dinitril

1-bromcyklookta-1,3-dien

3-methyl-5-oxahexansulfonová kyselina

1-(3-nitrofenyl)ethanol

4-ethylfenyl-propanoát
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2-methylbenzoová kyselina

ethyl-2-methylbenzoát

3-propoxybenzaldehyd
3-propyloxybenzenkarbaldehyd

4-oxocyklohex-2-en-1-karboxylová kyselina

4-chlornaftalen-2-karboxamid

3-(2-chlorethyloxy)benzaldehyd

3-ethoxy-3-methoxycyklopentankarbonitril

2-hydroxyethyl-3-fluorcyklobutankarboxylát 3-(2-oxopropyl)hexan-1,6-dial

 


